

EPABX

# भाकुअनुप - केन्द्रीय रोपण फसल अनुसंधान संस्थान कासरगोड, केरल - 671 124 भारत

### ICAR - Central Plantation Crops Research Institute

Kasaragod - 671 124, Kerala, India

(An ISO 9001:2008 Certified Institution)

Phone (Off): 04994 - 232333

: 04994 - 232322

04994 - 232893 - 95 04994 - 232090

04994 - 232996



:director.cpcri@icar.gov.in

directoreperi@gmail.com

Date: 11.01.2019

chowdappa.p@icar.gov.in Website: http://www.cpcri.gov.in

F.No.17(1)RIB(1)/2006-Estt. (Vol.XXI)

To

Shri. Gangadhara Alva Pithru Kripa House P O Perdala Badiadka-671551

Sir,

Sub: Right to Information Act, 2005 - Information furnishing of -reg.

Ref: Your letter No. Nil, dated 06.12.2018

With reference to the above, please find enclosed herewith the information sought by you as per the RTI Act 2005.

In case you desire to file an appeal on this issue the same may be addressed to the Director, CPCRI, P.O. Kudlu, Kasaragod - 671 124, Kerala.

Receipt of the letter may please be acknowledged.

Yours faithfully

Chief Admn. Officer &

Public Information Officer

Refer Date: 15/1/19

Vise BoQ

Tender Inviting Authority - Omerion IP AR-GRORI, Kasaragods

Name of Work - 1 the relation statisfor Kisan Melaion 05.01 2018 to 10.01.2018 at CPCRI, Kasaragod - 671 124. >

Contract No: - - - 30(2)/35-70+7 Estate (Exibition Stail)>

Name of the Bidder/ Bidding

gangadhara alva p

Firm '

Company

PRICE SCHEDULE

(DOMESTIC TENDERS - RATES ARE TO GIVEN IN RUPEES (INR) ONLY)

The contract of the modific or eplaced by the bidger and the same should be unloaded after filling the relevant columns, also the bidder is liable to be rejected for this 1 rule. Bitters are allowed to enter the Bidder Name and Values only )

NUMBER 1	TEXT #	NUMPER *	TEXT #	NUMBER #	NUMBER #	NUMBER #	TEXT ±
Si. No	Item Description	Quantity	Units	BASIC RATE In Figures To be entered by the Bidder for including all taxes in Rs. P.	TOTAL ÁMOUNT Without Taxès  col (13) = (4) x (7)  in  Rs. P	TOTAL AMOUNT With Taxes  col (14) = sum (8) to (13) (13) (13)	TOTAL AMOUNT In Words
1	2	À	5	7	13	14	15
1	Exibition						
i 01	At wouth Gate—Arc type board with inside clear width of 7.50mts having box side width of 7.5cms width (lacing side) and thickness of 45cms using mat/salin cloth with blue background, and in milky white letters with a lont size of 17.50cms/20cms/made with high quality thermocole sheets of required thickness) including fixing in position, mending work, etc. complete as per approved drawings.	2.00	set	8968.00	17936.00	17936.00	INR Screnteen Thousand Nine Hundred & Thirty Six Only
2	RegistrationWater proof Pandal with GT Sheets of size (5) - 40 ft) 12 height (from ground) for Registration / food stall with floor carpet using green shade inet and 3 sides half covered with clot	2000 00	sąft	8.98	17960.00	17960.00	INR & unleen Thousand Nine Hundred & Sixty Only
3	Exhibition stalls Exhibition stalls of size 10 feet x 10 feet x 12 feet neight cubical. Water proof Pandal with G I Sheets for top and sides along the road side(both) and inside coconul garden, with more variet using green shade, net as directed.	130 าด	Units	3363.00	437190.00	437190.00	INR Four Lakh Thirty Seven Thousand One Hundred & Ninety Only
A	Premium staffSpecification same as allove but replacing floor carpet of green shape net with RED Synthetic mat(9m x 3m ) for each premium staff (6 nos x 10 x 30 ) = 1800Sqft	1800 00	Sqfl	3.36	6048.00	6048.00	INR Six Thousand &Forty Eight Only
4 01	Power supply boards with cables (10 mts minimum) three 15 amps points (for each premium stalls and others)	10 00	Units	78.47	784.70	784.70	INR Silvon Hundred & Eighty Four and Paise Seventy Only
4 02	Supplying and fixing. Air cooler for premium stall	6.00	Nos	897.00	5382.00	5382.00	INR 1 IN0 Thousered Three Hundred & Eighty Two Ont

सहायक अभारतीय अधिकारी (एएटट) Assistant Administrative Offices (1860)

5	Furnitures Armless Plastic Chairs for stalls and dining area	360.00	Nos	8.96	3225.60	3225.60	INR Three Thousand Two Hundred & Twenty Five and Paise Sixty Only
5.01	Supplying tables with cloth cover for exhibition stalls , buffet tables	425.00	Nos	106.50	45262.50	45262.50	INR Forty Five Thousand Two Hundred & Sixty Two and Palse Fifty Only
5 02	Supplying Wooden sloof with 4 feet height for placing water can/dispensers	15.00	Nos	106.50	1597.50	1597.50	INR One Thousand Five Hundred & Ninety Seven and Paise Fifty Only
6	Pedestal fans (with built in regulator) inside the pandal and connection from power panel.	145.00	Nos	134.52	19505.40	19505.40	INR Nineteen Thousand Five Hundred & Five and Paise Forty Only
ď	Lighting arrangement having sufficient illumination for claim dining , kitchen and approach road  [a] Halogen lamp with 1000 watts with dimmer	۶.00	Nos	196.17	1569.36	1569.36	INR One Thousand Five Hundred & Sixty Nine and Paise "Into Six Only
7 00	b) Tube light	180.00	Nos	56.05	10089.00	(0089,00	INR Ten Thousand &Eighty Nine Only
7 02	c) Fire Expansibles for electrical and general fire	2.00	Nos	364.32	728.64	728.64	INR Soven Hundred & Twenty Eight and Paise Sixty Four Only
ć.	Charges for providing connection to the venue, cabling up to control panel and changeover system to BPD Panel including suitable panel for distribution of power to all electrical requirement in venue. Power from BPD bldg panel should be taken to the venue using suitable cables (Existing generator of BPD unit can be used)	5.00	Days	1681 50	8407.50	8407.50	INC Might Thousand Four Hundred & Saven, and Paies
g	Electrical supervisor operator with ITI Licence for Hissan mela venue	5.00	Days	1121.00	5605.00	5605.00	INR Five Thousand Six Hundred & Five Only
10	Power supply boards (10 mts minimum) three 5 amps points	150.00	Nos	44.84	6726.00	5726.00	INR Six Thousand Seven Hundred & Twenty Six Only
11	Supplying and erecting temporary tenter facilities to the event by the side of Kissan mela Pandal (gents and ladice ) with four compartments each set, covered with tin sheet on all sides, planing water drums with mugs	2.00	Units	2802.50	5605.00	5605.00	INR Five Thousand Six Hundred & Five Only
1.7	Dust bin facilities	20.00	Insts	112.10	2242.00	2242.00	INR Two Thousand Two Hundred & Forty Two Only
12 01	Washing tray basin with tacs (minimum)	2 00	Sets	672.60	1345.20	1345.20	INR One Thoushad Three Hundred & Forty Five and Paleo Twenty Only
13	Providing . supplying packed drinking water cans of 20 litres capacity with water dispensing unit and necessary refills for 5 days , and supplying disposable paper cups for drinking water. (Bisleri/Bindu/Mac Dowels) 15 Dispensing unit, ISI certified	225.00	Refils	168.15	37833.75	37833.75	INIR Thirty Seven Thousand Eight Hundred & Thirty Three and Paise Seventy Five Only
14	Assisting the exhibition stall entrepreneurs in unloading and loading their exhibition materials, equipment, machinery etc and the opening ail diclosing day	130.00	Nos	44.84	5829.20	5829.20	INR Five Thousand Eight Hundred & Twenty Nine and i also Twenty Only
15	Housekeeping charges for supplying and refilling drinking water cans in the Exhibition and Kissan mela venue and cleaning the area of debris, waste collection and disposal in dust bins with a frequency of Four times a day	4000.00	) sqft	1.68	6720.00	6720.00	INR Six Thousand Seven Hundred & Twenty Only
							महत्या

भहायक प्रभानानक जीवकारी (एस्टेट) Assistant Administrative Officer (15

16	Clearing the venue site of vegetation , grass , weeding using weed cutting machine wherever required and disposal, leveling etc before erecting the stalls, pandals and pathways as directed by concerned. (Approx area 8000Sqft )	1.00	Lumsum	4484.00	4484.00		INR Four Thousand Four Hundred & Eighty Four Only
17	Covering the exhibition pathway in between stalls with green shade net (170'x4nos x8feet = 5440Sqft )	5440.00	sqft	0.57	3100.80	3100.80	INR Three Thousand One Hundred and Paise Eighty Only
Total in Figures					655177.15		INR Six Lakh Fifty Five Thousand One Hundred & Seventy Seven and Paise Fifteen Only
Quoted Rate in Words		INR Six Lakh Fifty Five Thousand One Hundred & Seventy Seven and Palse Fifteen Only					

सहायक प्रशासनिक अधिकारी (एस्टेट) Assistant Administrative Officer (Estate) केंद्रीय रोपण फसल अनुसंधान संस्थान Central Plantation Crops Research Institute असरगोड़, केरल Kasaragod - 671 124, Kerala

#### FIRST AND FINAL BILL

NAME OF THE WORK: -

Erecting of Pandal and supply of Misc, items on hire basis for

Kisan Mela, ISOCRAD, PLACROSYM at CPCRI, Kasaragod

(IN DUPLICATE)

Work order no

F.NO 40(2)36/2017(Exhibition stall), Dated 28-12-2017,

NAME OF THE CONTRACTOR: Sri Gangadhara Alva ,Pithrukripa , Badiadukka , P.O Perdala Kasaragod 671551.

Date of commencement

01-01-2018

Date of completion

10-01-2018

#### FIRST AND FINAL BILL

S.No	Particulars/Description of item	Unit/Size	Quantity	Rate Quoted	Amount
•	Exhibition				
1)	At South Gate Arc type board with inside clear width of 7.50mts having box side width of 75cms width (facing side) and thickness of 45cms using mat/satin cloth with blue background and in milky white letters with a font size of 17.50cms/20cms(made with high quality thermocole sheets of required thickness) including fixing in position, mending work, etc, complete as per approved drawings.		2 set	* 8968.00	17936.00
2)	Registration Water proof Pandal with G.I Sheets of size (50 x 40 ft) 12' height (from ground) for Registration / food stall with floor carpet using green shade net and 3 sides half covered with cloth.		2000.00	8.98	17960.00

Assistant Administrative Officer (Estate) केंद्रीय रोपण फसल अनुसंधान संस्थान

3 a)	Exhibition stalls  Exhibition stalls of size 10 feet x 10 feet x 12 feet height cubical,  Water proof Pandal with G.I Sheets for top and sides along the road side(both) and inside coconut garden with floor carpet using green shade net as directed.	Units	140	3363.00	4,70,820.00
4 a)	Premium stall Specification same as above but replacing floor carpet of green shade net with RED Synthetic mat(9m x 3m) for each premium stall (11 nos x 10' x 30') = $3300$ Sqft	Sqft	3300.00	3.36	11088.00
b)	Power supply boards with cables (10 mts minimum) three 15 amps points (for each premium stalls and others)	Units_	13	78.47	1020.11
c)	Supplying and fixing Air cooler for premium stall	Nos	11	897.00	9867.00
5) a)	Furnitures Armless Plastic Chairs for stalls and dining area	Nos	360	8.96	3225.60
b)	Supplying tables with cloth cover for exhibition stalls, buffet tables	Nos	445	106.50	47392.50
c)	Supplying Wooden stool with 4 feet height for placing water can/dispensers	Nos	15	106.50	1597.50
6 a)	Pedestal fans (with built in regulator) inside the pandal and connection from power panel.	Nos	90	134.52	12106.80
7)	Lighting arrangement having sufficient illumination for stalls, dining, kitchen and approach road a) Halogen lamp with 1000 watts with dimmer b) Tube light c) Fire Extinguishers for electrical and general fire	Nos Nos Nos	10 180 2	196.17 56.05 364.32	1961.70 10089.00 728.64

महायक प्रशासिक आध्यकारी (एस्टेट Assistant Administrative Officer (ह

8)	Charges for providing connection to the venue, cabling up to control panel and changeover system to BPD Panel including suitable panel for distribution of power to all electrical requirement in venue. Power from BPD bldg panel should be taken to the venue using suitable cables (Existing generator of BPD unit can be used)	Day	5	1681.50	8407.50
9)	Electrical supervisor operator with ITI Licence for Kissan mela venue	Day	5	1121.00	5605.00
10)	Power supply boards with cables (10 mts minimum) three 5 amps points	Nos	150	4.48	6726.00
11)	Supplying and erecting temporary toilet facilities to the Event by the side of Kissan mela Pandal (gents and ladies) with four compartments each set, covered with tin sheet on all sides, placing water drums with mugs	Unit	2	2802.50	5605.00
12a)	Dust bin facilities	Unit	20	112.10	2242.00
b)	Washing tray basin with 6 taps (minimum)	Sets	3	672.60	2017.80
13)	Providing, supplying packed drinking water cans of 20 litres capacity with water dispensing unit and necessary refills for 5 days, and supplying disposable paper cups for drinking water. (Bisleri/Bindu/Mac Dowels) 15 Dispensing unit, ISI certified	Refill	245	168.15	41196.75
14)	Assisting the exhibition stall entrepreneurs in unloading and loading their exhibition materials, equipment, machinery etc on the opening and closing day.	Nos	140	44.84	6277.60
15)	Housekeeping charges for supplying and refilling drinking water cans in the Exhibition and Kissan mela venue and cleaning the area		Wild Color of the		

सह्यक प्रशासनिक अधिकारी (एस्टेट) Assistant Administrative Officer (Estat

	of debris, waste collection and disposal in dust bins with a frequency of Four times a day.	Sqft	9980	1.68	16766.40
16)	Clearing the venue site of vegetation, grass, weeding using weed cutting machine wherever required and disposal, leveling etc before erecting the stalls, pandals and pathways as directed by concerned. (Approx area 8000Sqft)		psum	4484.00	4484.00
17)	Covering the exhibition pathway in between stalls with green shade net (170'x4nos x8feet = 5440Sqft)	Sqft	9980	0.50	4990.00
	Grand total				7,05,010.98
	The rates quoted by the contractor is inclusion			Rounded to	o Rs 7,05,011/-

Amount in words

The rates quoted by the compactor is inclusive of 6 5 7.

t in words Rupees Seven Lakh Five Thousand and Eleven Only.

Signature of the Contractor Address, .

Ferred De Estador Landing

स.पणाः अधिकारी (जिल)तथा आहरण एवं तंत्रितरण अधिकारी Asst. Admir. Officer (Sills) and Drawing & Disbursing Officer Assistant Administrative Officer ( ) ...



## भाकुअनुप - केन्द्रीय रोपण फसल अनुसंधान संस्थान कासरगोड, केरल - 671 124 भारत ICAR - Central Plantation Crops Research Institute



Kasaragod - 671 124, Kerala, India (An ISO 9001:2008 Certified Institution)

Phone (Off): 04994 - 232333 : 04994 - 232322

EPABX

04994 - 232893 - 95

04994 - 232090

04994 - 232996

:director.cpcri@icar.gov.in

directoreperi@gmail.com

Date: 11.01.2019

chowdappa.p@icar.gov.in Website: http://www.cpcri.gov.in

F.No.17(1)RIB(1)/2006-Estt. (Vol.XXI)

To

Shri. Gangadhara Alva Pithru Kripa House P O Perdala Badiadka-671551

Sir,

Sub: Right to Information Act, 2005 - Information furnishing of -reg.

Ref: Your letter No. Nil, dated 06.12.2018

With reference to the above, please find enclosed herewith the information sought by you as per the RTI Act 2005.

In case you desire to file an appeal on this issue the same may be addressed to the Director, CPCRI, P.O. Kudlu, Kasaragod - 671 124, Kerala.

Receipt of the letter may please be acknowledged.

Yours faithfully

Chief Admn. Officer &

Public Information Officer

Refer Date: 15/1/19